

Uniqueness of Meromorphic Functions Sharing Rational Functions with Their First Derivatives

Feng Lü¹ and Jianming Qi²

¹*College of Science, China University of Petroleum, Qingdao, Shandong, 266580, P. R. China*

²*Department of Mathematical and Physics, Shanghai Dianji University, Shanghai, 201306, P. R. China*

Received May 5, 2010

Revised December 26, 2011

Abstract. In this paper, by estimating the growth of ρ_n in a theorem of Pang and Zalcman, we obtain a uniqueness theorem of meromorphic functions which share two distinct rational functions with their first derivatives. It generalizes some previous related results of Rubel and Yang, Li and Yi, Qi, Lü and Chen, and so on.

2000 Mathematics Subject Classification. 30D35, 30D45.

Key words. Meromorphic functions, Nevanlinna theory, uniqueness, normal family, Marty's criterion.

1. Introduction and main results

In this paper, for any non-constant meromorphic function f , we adopt the standard notations in Nevanlinna's value distribution theory of meromorphic functions such as the characteristic function $T(r, f)$, the proximity function $m(r, f)$ and the counting function $N(r, f)$ (reduced form $\overline{N}(r, f)$) of poles. We refer the reader to [3, 14] and [15] for more details on those notations.

The research was supported by the NSFC Tianyuan Mathematics Youth Fund (No. 11026146) and the Fundamental Research Funds for the Central Universities (Nos 12CX04080A and 10CX04038A).

Let f and g be two non-constant meromorphic functions, and let R be a rational function or a finite complex number. If $g(z) - R(z) = 0$ whenever $f(z) - R(z) = 0$, we denote the condition by $f(z) = R(z) \Rightarrow g(z) = R(z)$. If both $f(z) = R(z) \Rightarrow g(z) = R(z)$ and $g(z) = R(z) \Rightarrow f(z) = R(z)$, we denote the condition by $f(z) = R(z) \Leftrightarrow g(z) = R(z)$ and say that f and g share R IM (ignoring multiplicity). If $f - R$ and $g - R$ have the same zeros with the same multiplicities, we write $f(z) = R(z) \Leftrightarrow g(z) = R(z)$ and say that f and g share R CM (counting multiplicity).

In 1977, Rubel and Yang [12] considered the uniqueness problem of entire functions which share two distinct values CM with their first derivatives. They obtained the following well-known theorem.

Theorem 1.1. *Let a and b be complex numbers such that $b \neq a$, and let f be a non-constant entire function. If f and f' share values a and b CM, then $f = f'$.*

This result has undergone various extensions and improvements [15]. Especially, in 1979, Mues and Steinmetz [9] weakened the sharing values CM to the sharing values IM and deduced the following theorem.

Theorem 1.2. *Let a and b be complex numbers such that $b \neq a$, and let f be a non-constant entire function. If $f(z) = a \Leftrightarrow f'(z) = a$ and $f(z) = b \Leftrightarrow f'(z) = b$, then $f = f'$.*

In 2006, Li and Yi [4] further improved Theorem 1.2 and derived the following result.

Theorem 1.3. *Let a and b be complex numbers such that $b \neq a, 0$, and let f be a non-constant entire function. If $f(z) = a \Leftrightarrow f'(z) = a$ and $f'(z) = b \Rightarrow f(z) = b$, then $f = f'$.*

In 2009, Lü, Xu and Yi [7] generalized the previous theorems and deduced the following result.

Theorem 1.4. *Let a and b be two non-zero distinct complex numbers, and let f be a non-constant entire function. If $f(z) = a \Leftrightarrow f'(z) = a$ and $f'(z) = b \Rightarrow f(z) = b$, then $f = f'$.*

Recently, with the idea of sharing polynomials, Qi, Lü and Chen [11] proved the following result.

Theorem 1.5. *Let $Q_1(z) = a_1 z^p + a_{1,p-1} z^{p-1} + \cdots + a_{1,0}$ and $Q_2(z) = a_2 z^p + a_{2,p-1} z^{p-1} + \cdots + a_{2,0}$ be two polynomials such that $\deg Q_1(z) = \deg Q_2(z) = p$ (where p is a non-negative integer) and a_1, a_2 ($a_2 \neq 0$) are two distinct complex numbers. Let f be a transcendental entire function. If $f(z) = Q_1(z) \Leftrightarrow f'(z) = Q_1(z)$ and $f'(z) = Q_2(z) \Rightarrow f(z) = Q_2(z)$, then $f = f'$.*

After studying Theorem 1.5, we propose some questions as follows.

Question 1. Whether the condition that a_1, a_2 are distinct is necessary or not?

Question 2. Can the polynomials Q_1 and Q_2 be replaced by rational functions?

Question 3. Can f be a meromorphic function in the above theorem?

In the present paper, we investigate the above questions. Actually, with the theory of normal families, we completely solve the Question 1 and partially solve the other two questions.

Theorem 1.6. *Let f be a transcendental meromorphic function with finitely many poles, and let R_1 and R_2 be two distinct rational functions such that*

$$\frac{|R_1(z)|}{|R_2(z)|} \rightarrow M \text{ as } |z| \rightarrow \infty,$$

where M is a positive constant. If

- (1) f and R_1 have no common poles,
- (2) $f(z) = R_1(z) \Leftrightarrow f'(z) = R_1(z)$ and
- (3) $f'(z) = R_2(z) \Rightarrow f(z) = R_2(z)$,

then $f = f'$.

Remark 1.7. Obviously, Theorem 1.6 is an improvement of Theorem 1.5.

Remark 1.8. The following example shows that the hypothesis that f is transcendental cannot be omitted in Theorem 1.6.

Example 1.9. Consider the function $f(z) = z^2$. Let $R_1(z) = 4z - z^2$ and $R_2(z) = 2z + z^2$. It is not difficult to see that

$$\frac{f' - R_1}{f - R_1} = \frac{1}{2} \text{ and } f'(z) = R_2(z) \Rightarrow f(z) = R_2(z).$$

But $f \neq f'$.

Remark 1.10. In our proof of Theorem 1.6, we need the condition that $\frac{|R_1(z)|}{|R_2(z)|} \rightarrow M$ as $|z| \rightarrow \infty$. But, we don't know whether the condition is necessary or not. Unfortunately, we neither give a negative example nor prove that Theorem 1.6 is still valid without the condition.

Remark 1.11. The proof of Theorem 1.6 is similar to that of Theorem 1.5. It is crucial to deduce that f is of finite order. With the theory of normal families and a tiny improvement of a Pang and Zalcman's lemma, we obtain the conclusion. In fact, we deduce the following result which is of independent interest.

Theorem 1.12. *Let f be a transcendental meromorphic function with finitely many poles, and let R_1 and R_2 be two distinct rational functions such that*

$$\frac{|R_1(z)|}{|R_2(z)|} \rightarrow M \text{ as } |z| \rightarrow \infty,$$

where M is a positive constant. If

- (1) $f(z) = R_1(z) \Rightarrow f'(z) = R_1(z)$ and
- (2) $f'(z) = R_2(z) \Rightarrow f(z) = R_2(z)$,

then f is of finite order.

Remark 1.13. Obviously, Theorem 1.12 is an improvement of several results in some sense, such as [4, Theorem 3] and [11, Theorem 1.6].

For the proof of our results, we need to introduce the theory of normal families. Let \mathcal{F} be a family of meromorphic functions on a domain D . We say that \mathcal{F} is normal in D if every sequence of functions $\{f_n\} \subset \mathcal{F}$ contains either a subsequence which converges to a meromorphic function f uniformly on each compact subset of D or a subsequence which converges to ∞ uniformly on each compact subset of D . There is a famous criterion, called Marty's criterion. It says that \mathcal{F} is normal if and only if for each $f \in \mathcal{F}$, $f^\#(\xi)$ is locally bounded in D . Here

$$f^\#(\xi) = \frac{|f'(\xi)|}{1 + |f(\xi)|^2}$$

is the spherical derivative of f (see [1, 13]).

2. Some lemmas

In order to prove our theorems, we need several lemmas. For the convenience of the reader, we recall these lemmas here.

About the famous lemma of Pang and Zalcman [10, Lemma 2], we make a slight modification. By estimating the growth of ρ_n , we deduce the following lemma, which plays an important role in the proof of Theorem 1.12 below. And the idea are due to Liu, Nevo and Pang [5].

Lemma 2.1. *Let $\{f_n\}$ be a family of functions meromorphic (or holomorphic) on the unit disc Δ , all of whose zeros have multiplicity at least k , and suppose that there exists $A \geq 1$ such that $|f^{(k)}(z)| \leq A$ whenever $f \in \mathcal{F}$ and $f(z) = 0$. If $a_n \rightarrow a$, $|a| < 1$, and $f_n^\#(a_n) \rightarrow \infty$, then there exist, for each $0 \leq \alpha \leq k$,*

- (a) a subsequence of $\{f_n\}$ (which we still write as $\{f_n\}$);
- (b) points z_n $|z_n| < 1$;
- (c) positive numbers $\rho_n \rightarrow 0$

such that $\rho_n^{-\alpha} f_n(z_n + \rho_n \xi) = g_n(\xi) \rightarrow g(\xi)$ locally uniformly, where g is a non-constant meromorphic (or entire) function on \mathbb{C} with order at most 2 (or 1), and all the zeros of g have multiplicity at least k . Meanwhile, $g^\#(\xi) \leq g^\#(0) = kA + 1$ and

$$\rho_n \leq \frac{M}{\sqrt[1+\alpha]{f_n^\#(a_n)}},$$

where M is a positive constant which is independent of n .

Proof. The proof of this lemma is similar to that of Lemma 2 in [10]. Thus, we just give the main points. Comparing it to Lemma 2 of [10], we just need to estimate the size of the ρ_n 's. Noting that the assumption $f_n^\#(a_n) \rightarrow \infty$, we can replace z_n^* by a_n in Lemma 2 of [10]. Then, in Lemma 2 of [10], it follows from (9) and the first inequality on p.329 that

$$kA + 1 \geq t_n^{1+\alpha} \frac{(1 - \frac{|a_n|^2}{r^2})^{1+\alpha} |f_n'(a_n)|}{(1 - \frac{|a_n|^2}{r^2})^{2\alpha} + |f_n(a_n)|^2} \geq t_n^{1+\alpha} (1 - \frac{|a_n|^2}{r^2})^{1+\alpha} f_n^\#(a_n). \quad (1)$$

On the other hand, in Lemma 2 of [10], we have

$$\rho_n = (1 - \frac{|z_n|^2}{r^2}) t_n = \frac{1 - \frac{|z_n|^2}{r^2}}{1 - \frac{|a_n|^2}{r^2}} (1 - \frac{|a_n|^2}{r^2}) t_n. \quad (2)$$

In view of (1), we deduce that

$$\rho_n \leq \frac{1 - \frac{|z_n|^2}{r^2}}{1 - \frac{|a_n|^2}{r^2}} \frac{1+\alpha \sqrt{kA+1}}{1+\alpha \sqrt{f_n^\#(a_n)}} \leq \frac{M}{1+\alpha \sqrt{f_n^\#(a_n)}},$$

where M is a positive number which is independent of n . Thus, we finish the proof of this lemma. \blacksquare

Next, we need to introduce a result of Liu, Nevo and Pang [5].

Lemma 2.2. *Let f be a meromorphic function of infinite order on \mathbb{C} . Then there exist points $z_n \rightarrow \infty$, such that for every $N > 0$, $f^\#(z_n) > |z_n|^N$ if n is sufficiently large.*

Finally, we recall a result of Lü and Yi [8, Lemma 2.6], which is crucial to the proof of Theorem 1.6.

Lemma 2.3. *Let R and H be two non-zero rational functions, let Q be a polynomial, and let F be a transcendental meromorphic function with finite order. If F is a solution of the following differential equation*

$$F' - Re^Q F = H, \quad (3)$$

then Q is a constant. In particular, if $R = \frac{1}{P}$, where P is a polynomial, then R is also a constant.

3. Proof of Theorem 1.12

Obviously, $R_1 \neq 0$. Let

$$F = \frac{f}{R_1} - 1.$$

In the following, we proceed our proof into two cases.

Case 1. F is of finite order.

Then, $f = (F + 1)R_1$ is of finite order as well.

Case 2. F is of infinite order.

It follows from Lemma 2.2 that there exists a sequence $\{w_n\}$ such that $w_n \rightarrow \infty$ and for every $N > 0$ (for n sufficiently large)

$$F^\sharp(w_n) > |w_n|^N. \quad (4)$$

We first construct a family of holomorphic functions. Since R_1 is a rational function, then there exists a $r_1 > 0$ such that for $|z| \geq r_1$,

$$R_1(z) \neq 0 \quad \text{and} \quad \left| \frac{R_1'(z)}{R_1(z)} \right| \leq \frac{B}{|z|} \leq 1, \quad (5)$$

where B is a positive constant. Noting that f has finitely many poles, so F has finitely many poles. Thus, there is a $r_2 > 0$ such that F is analytic in $D_0 = \{z : |z| \geq r_2\}$.

Let $r = \max\{r_1, r_2\}$ and $D = \{z : |z| \geq r\}$. Then F is analytic in D . In view of $w_n \rightarrow \infty$, without loss of generality, we may assume $|w_n| \geq r + 1$ for all n . Define $D_1 = \{z : |z| < 1\}$ and

$$F_n(z) = F(w_n + z) = \frac{f(w_n + z)}{R_1(w_n + z)} - 1.$$

Then all $F_n(z)$ are analytic in D_1 . Thus, we obtain a family of holomorphic functions $(F_n)_n$. Moreover,

$$F_n^\sharp(0) = F^\sharp(w_n) \rightarrow \infty \text{ as } n \rightarrow \infty.$$

It follows from Marty's criterion that $(F_n)_n$ is not normal at $z = 0$.

Now, let $z \in D_1$ be fixed. If $F_n(z) = 0$, then $f(w_n + z) = R_1(w_n + z)$. It is clear from the assumption (1) that $f'(w_n + z) = R_1'(w_n + z)$. Thus, with (5), we deduce that (for n large enough)

$$\begin{aligned} |F_n'(z)| &= \left| \frac{f'(w_n + z)}{R_1(w_n + z)} - \frac{f(w_n + z)}{R_1(w_n + z)} \frac{R_1'(w_n + z)}{R_1(w_n + z)} \right| \\ &\leq \left| \frac{f'(w_n + z)}{R_1(w_n + z)} \right| + \left| \frac{f(w_n + z)}{R_1(w_n + z)} \frac{R_1'(w_n + z)}{R_1(w_n + z)} \right| \leq 2. \end{aligned} \quad (6)$$

Therefore, applying Lemma 2.1 with $\alpha = k = 1$ and choosing an appropriate subsequence of $(F_n)_n$ if necessary, we may assume that there exist sequences $(z_n)_n \in D_1$ and $(\rho_n)_n$ such that $\rho_n \rightarrow 0$ and

$$g_n(\zeta) = \rho_n^{-1} F_n(z_n + \rho_n \zeta) = \rho_n^{-1} \left[\frac{f(w_n + z_n + \rho_n \zeta)}{R_1(w_n + z_n + \rho_n \zeta)} - 1 \right] \rightarrow g(\zeta) \quad (7)$$

locally uniformly in \mathbb{C} , where g is a non-constant entire function of order at most 1, $g^\#(\zeta) \leq g^\#(0) = 3$ for all $\zeta \in \mathbb{C}$ and

$$\rho_n \leq \frac{M_1}{\sqrt{F_n^\#(0)}} = \frac{M_1}{\sqrt{F^\#(w_n)}} \quad (8)$$

for a positive number M_1 . With (4), for every $N > 0$, if n is sufficiently large, we have

$$\rho_n \leq \frac{M_1}{\sqrt{F_n^\#(0)}} = \frac{M_1}{\sqrt{F^\#(w_n)}} \leq |w_n|^{-\frac{N}{2}}. \quad (9)$$

Differentiating (7) yields

$$\begin{aligned} g'_n(\zeta) &= \frac{f'(w_n + z_n + \rho_n \zeta)}{R_1(w_n + z_n + \rho_n \zeta)} - \frac{f(w_n + z_n + \rho_n \zeta)}{R_1(w_n + z_n + \rho_n \zeta)} \frac{R'_1(w_n + z_n + \rho_n \zeta)}{R_1(w_n + z_n + \rho_n \zeta)} \\ &= \frac{f'(w_n + z_n + \rho_n \zeta)}{R_1(w_n + z_n + \rho_n \zeta)} - [\rho_n g_n(\zeta) + 1] \frac{R'_1(w_n + z_n + \rho_n \zeta)}{R_1(w_n + z_n + \rho_n \zeta)} \rightarrow g'(\zeta) \end{aligned} \quad (10)$$

locally uniformly in \mathbb{C} . In view of (10) and $\frac{R'_1(w_n + z_n + \rho_n \zeta)}{R_1(w_n + z_n + \rho_n \zeta)} \rightarrow 0$ as $n \rightarrow \infty$, we deduce that

$$\frac{f'(w_n + z_n + \rho_n \zeta)}{R_1(w_n + z_n + \rho_n \zeta)} \rightarrow g'(\zeta) \quad (11)$$

locally uniformly in \mathbb{C} .

Noting that $\frac{|R_1(z)|}{|R_2(z)|} \rightarrow M$ as $|z| \rightarrow \infty$, where M is a positive number, we can assume that

$$\frac{R_1(z)}{R_2(z)} \rightarrow \frac{1}{a} \text{ as } z \rightarrow \infty, \quad (12)$$

where $\frac{1}{a}$ is a constant with $|\frac{1}{a}| = M$. We claim

- (I) $g(\zeta) = 0 \Rightarrow g'(\zeta) = 1$,
- (II) $g'(\zeta) \neq a$.

First we prove (I). Suppose that $g(\zeta_0) = 0$. By Hurwitz's theorem and (7), there exists a sequence $\{\zeta_n\}$ such that $\zeta_n \rightarrow \zeta_0$ and (for n sufficiently large)

$$\frac{f(w_n + z_n + \rho_n \zeta_n)}{R_1(w_n + z_n + \rho_n \zeta_n)} = 1.$$

From the assumption (1), we have

$$f'(w_n + z_n + \rho_n \zeta_n) = R_1(w_n + z_n + \rho_n \zeta_n). \quad (13)$$

Combining (11) and (13) yields

$$g'(\zeta_0) = \lim_{n \rightarrow \infty} \frac{f'(w_n + z_n + \rho_n \zeta_n)}{R_1(w_n + z_n + \rho_n \zeta_n)} = 1,$$

which implies (I). Next, we prove $g'(\zeta) \neq a$.

Obviously, $g' \neq a$. Otherwise, we assume that $g' = a$. Then it is clear from (I) that $a = 1$, while

$$3 = g^\#(0) \leq g'(0) = 1 < 3,$$

a contradiction. Thus, we get $g' \neq a$.

On the other hand, it follows from (11) and (12) that

$$\frac{f'(w_n + z_n + \rho_n \zeta) - R_2(w_n + z_n + \rho_n \zeta)}{R_1(w_n + z_n + \rho_n \zeta)} \rightarrow g'(\zeta) - a. \quad (14)$$

Now, we return to the proof of (II). Suppose $g'(\xi_0) = a$. Noting that $g' \neq a$, by Hurwitz's theorem and (14), there exists a sequence $\{\xi_n\}$ such that $\xi_n \rightarrow \xi_0$ and (for n sufficiently large)

$$f'(w_n + z_n + \rho_n \xi_n) = R_2(w_n + z_n + \rho_n \xi_n).$$

By the condition (2) of Theorem 1.12, we have

$$f(w_n + z_n + \rho_n \xi_n) = R_2(w_n + z_n + \rho_n \xi_n).$$

Suppose that

$$\frac{R'_2 - R_1}{R_1} = \frac{Q_1}{Q_2},$$

where Q_1 and Q_2 are two polynomials with no common factors, and suppose $\deg(Q_2) = p$. Noting that $\frac{|R_1(z)|}{|R_2(z)|} \rightarrow M$ as $|z| \rightarrow \infty$, we know $R'_2 \neq R_1$. That is $Q_1 \neq 0$. Then, combining (9) and (14) yields

$$\begin{aligned} |g(\xi_0)| &= \lim_{n \rightarrow \infty} \rho_n^{-1} \left| \frac{f'(w_n + z_n + \rho_n \xi_n)}{R_1(w_n + z_n + \rho_n \xi_n)} - 1 \right| \\ &= \lim_{n \rightarrow \infty} \rho_n^{-1} \left| \frac{R'_2(w_n + z_n + \rho_n \xi_n) - R_1(w_n + z_n + \rho_n \xi_n)}{R_1(w_n + z_n + \rho_n \xi_n)} \right| \\ &\geq \lim_{n \rightarrow \infty} |w_n|^{p+1} \left| \frac{R'_2(w_n + z_n + \rho_n \xi_n) - R_1(w_n + z_n + \rho_n \xi_n)}{R_1(w_n + z_n + \rho_n \xi_n)} \right| \\ &= \lim_{n \rightarrow \infty} |w_n|^{p+1} \left| \frac{Q_1(w_n + z_n + \rho_n \xi_n)}{Q_2(w_n + z_n + \rho_n \xi_n)} \right| = \infty, \end{aligned} \quad (15)$$

which is a contradiction. Thus, we finish the proof of (II).

Observing that g is of order at most 1 and (II), we can set

$$g'(z) = a + A\lambda e^{\lambda z}, \quad (16)$$

where A, λ are two non-zero constants. Integrating the above function yields

$$g(z) = az + c + Ae^{\lambda z}, \quad (17)$$

where c is a constant. By (I), (16) and (17), it is not difficult to deduce a contradiction, which implies that the case 2 cannot occur.

Hence, we complete the proof of Theorem 1.12. ■

4. Proof of Theorem 1.6

It follows from Theorem 1.12 that f is of finite order. Define

$$\mu = \frac{f' - R_1}{f - R_1}. \quad (18)$$

The fact that f is transcendental implies $\mu \neq 0$.

From the conditions (1) and (2) in Theorem 1.6, we obtain μ has no zeros. The assumption that f has finitely many poles implies that μ has finitely many poles. Moreover, from (18), we have $\rho(\mu) \leq \rho(f)$, which implies that μ is of finite order. Therefore, we set

$$\mu = \frac{1}{P_1} e^Q, \quad (19)$$

where $P_1 \neq 0$ and Q are two polynomials.

Let $F = f - R_1$ and $\phi = R_1 - R'_1$. Then ϕ is a non-zero rational function. Rewrite (18) as

$$F' - \phi = \frac{1}{P_1} e^Q F.$$

It follows from Lemma 2.3 that Q and P_1 are two constants. Thus μ is a non-zero constant, say $\mu = \lambda$. We rewrite (18) as

$$f' = \lambda f + (1 - \lambda)R_1. \quad (20)$$

Combining condition (1) and the above equation yields that f is an entire function and R_1 reduces to a polynomial. Then, we can proceed our proof as that of Theorem E in [11]. For the convenience of the reader, we present our proof in detail.

If $\lambda = 1$, then $f = f'$. We now assume $\lambda \neq 1$. By solving the differential equation (20), we have

$$f(z) = Ae^{\lambda z} + P(z), \quad (21)$$

where A is a non-zero constant and P is a polynomial. Differentiating (21) yields

$$f'(z) = A\lambda e^{\lambda z} + P'(z). \quad (22)$$

By substituting the forms of f and f' into (20), we deduce that

$$(1 - \lambda)R_1 + \lambda P - P' = 0. \quad (23)$$

In the following, we prove $P' = R_2$. On the contrary, suppose $P' \neq R_2$.

Since $P' - R_2$ is a rational function, we obtain that

$$\overline{N}\left(r, \frac{1}{f' - R_2}\right) = \overline{N}\left(r, \frac{1}{A\lambda e^{\lambda z} + P' - R_2}\right) = T(r, e^{\lambda z}) + S(r, f) \neq S(r, f). \quad (24)$$

Let z_0 be a zero of $f' - R_2$. The assumption (3) implies that $f(z_0) = R_2(z_0)$. Plugging z_0 into (21) and (22), we have

$$(1 - \lambda)R_2(z_0) + \lambda P(z_0) - P'(z_0) = 0.$$

Suppose that $(1 - \lambda)R_2 + \lambda P - P' \neq 0$. Noting that $(1 - \lambda)R_2 + \lambda P - P'$ is a rational function, we deduce

$$\begin{aligned} \overline{N}\left(r, \frac{1}{f' - R_2}\right) &\leq \overline{N}\left(r, \frac{1}{(1 - \lambda)R_2 + \lambda P - P'}\right) \\ &\leq T(r, (1 - \lambda)R_2 + \lambda P - P') = S(r, f), \end{aligned}$$

which contradicts (24). Hence,

$$(1 - \lambda)R_2 + \lambda P - P' = 0.$$

Comparing it to (23), we have $R_1 = R_2$, a contradiction.

Thus we prove that $P' = R_2$ and R_2 is also a polynomial. It is easy to deduce that $\deg R_2 = \deg P'$ and $\deg R_1 = \deg P$. Thus

$$\frac{|R_1(z)|}{|R_2(z)|} \rightarrow \infty, \text{ as } |z| \rightarrow \infty,$$

which contradicts the assumption. So the case $\lambda \neq 1$ cannot occur.

Hence, we complete the proof of Theorem 1.6. ■

Acknowledgment. The authors owe many thanks to the referee for valuable comments and suggestions made to the present paper.

References

1. J. Clunie and W. K. Hayman, The spherical derivative of integral and meromorphic functions, *Comment. Math. Helv.* **40** (1966), 117-148.
2. J. M. Chang and L. Zalcman, Meromorphic functions that share a set with their derivatives, *J. Math. Anal. Appl.* **338** (2008), 1020-1028.
3. W. K. Hayman, *Meromorphic Functions*, Clarendon Press, Oxford, 1964.
4. J. T. Li and H. X. Yi, Normal families and uniqueness of entire functions and their derivatives, *Arch. Math.* **87** (2006), 52-59.
5. X. J. Liu, S. Nevo and X. C. Pang, On the k th derivative of meromorphic functions with zeros of multiplicity at least $k + 1$, *J. Math. Anal. Appl.* **348** (2008), 516-529.
6. F. Lü, J. F. Xu and A. Chen, Entire functions sharing polynomials with their first derivatives, *Arch. Math.* **92** (2009), 593-601.

7. F. Lü, J. F. Xu and H. X. Yi, Uniqueness theorems and normal families of entire functions and their derivatives, *Ann. Pol. Math.* **95** (2009), 67-75.
8. F. Lü and H. X. Yi, On the uniqueness problems of meromorphic functions and their linear differential polynomials, *J. Math. Anal. Appl.* **362** (2010), 301-312.
9. E. Mues and N. Steinmetz, Meromorphe Funktionen, die mit ihrer Ableitung Werte teilen, *Manuscr. Math.* **29** (1979), 195-206.
10. X. C. Pang and L. Zalcman, Normal families and shared values, *Bull. Lond. Math. Soc.* **32** (2000), 325-331.
11. J. M. Qi, F. Lü and A. Chen, Uniqueness of entire functions sharing polynomials with their derivatives, *Abstr. Appl. Anal.* (2009), Art. ID 847690, 9 pp.
12. L. A. Rubel and C. C. Yang, Values shared by an entire function and its derivative, Complex Analysis, *Lecture Notes in Mathematics* **599**, Springer-Verlag, Berlin, 1976, 101-103.
13. J. L. Schiff, *Normal Families*, Springer, New York, 1993.
14. J. W. Sun, Some properties of growth for composite entire functions with deficient function, *Acta Math. Vietnam.* **33** (2008), 45-52.
15. C. C. Yang and H. X. Yi, *Uniqueness Theory of Meromorphic Functions*, Science Press & Kluwer, Beijing, 2003.